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»28 did not say like X29; so the sinner should not profit

OVERVIEW

X271 2R cited separate Mn>12 to challenge the ruling of 701> 27 (that 2127 19>
mnn?). The &3 explains that »ax did not challenge from the RXn»M2 of X2
regarding 01p, since *aX thought that this Xn»72 does not pose a difficulty; she will
receive the 01p even if NN 7212° because we do not want the Di1x» (the Xvn) to
profit from being 0iXn this N33, Our Moon discusses a difficulty from this
inference that 821 is not concerned for 75w1 RO R K7W,

- T93w3 NDIN NN NIYT NAYO 1Y 1Y NIYT $HUN
It seems that 827 does agree with the reasoning of 2521 XvWT K7° KW —

nooIn asks
=10 HNINX %) 0N INI 229 920D (0w 2,0y 91 80P 822) /DY 7T NIY NV P992 1999INT DY)

And there is a difficulty, for the X explains in '/ '7 naw W Pap; ‘'S
maintains that 2°m> are” valid 2> -

— 432 Ry XYW Praw MW PIvh 231mna R 927 DAIPT RIT OIP
But it is merely a fine that »''% imposed on their money regarding on ox that

gored, in order that the Jews should not intermingle with them’ -
- PN HY AN DI )NV UIY MY PN 75999

And X7°7 27 there challenged this explanation, for we learnt in a 71wn, ‘These are

the nmy1 which receive 21, one who lives with a nsn2’, etc. -
= 012) 72) N2N D)1992 9PN 29 ©NP *NY

And if %' punishes the 2°m> with their money (as was explained regarding MW
’M> %), here too (by 01p) »"1 should punish the n°n1> and not award her the o3p.

" If X2 follows the logic of 12w1 XN K> X7w, how can he challenge 7ov 27 from the ruling of 03p, by o3P it is
different since we wish to punish the &7 who was 0181 (see ‘Overview’).
% The o°m> were a nation which 1m0 (who exiled the o*vawn nwy) brought from XM> and settled them in MW,
They were 2an later when they were attacked by lions (see m3-73,7 ,2 0°3%). It is questionable whether the o n>
were NnX " (and are considered as Jews), or whether they were n1™ X "3 (they converted only because the lions
were killing them) and are considered ™.
3 »"1 rules that if a Jewish ox gored a s"n1d ox the Jew is 7wo; however if a s"N12 ox gored a Jewish ox, the *n> must
pay a 07w pn even if he is a on (just as the ruling would be regarding a »). This is a fine in order to prevent
intermingling between the Jews and the o n>.
* Their original M3 was proper. However they became corrupted later, and were not faithful to ¥"mn.
% x,02 19pY. This is a 73wn ano, which presumably is according to n", since »" 71w oNo.
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And 2R answered that here by a 0iXn, »"7 did not want to punish the n°n1, so

that the Xv (the 01%n) should not gain’. This concludes the citation from the X3 in

?"2. Now mo0in concludes his question -
- 790N %W 8 5350 191 RVINT DYV KON 7Y 15T XAY XYM

But now that we surmised that 829 does not agree to the reasoning of 25w N7,
how will he explain the view of n"" there?!

Mo0IN answers:
=19 IR 2NT DI 1NT YW 1727 1) RNYL NN 929V 119D NN DNNT 90 v

And one can say; that there (by 0i1xn) X217 rightfully agrees to this reasoning of
TOW1 RV R R2W, since lawfully the o°n> deserve being paid the o1p for they are

valid 25 -
- RPN 1Y 139991 19W) NOIN XY NYY RNYL DIVNT XN NI2D 10D D3pnY 139927 NON

However we wanted to punish them, therefore logic dictates that on account of

the reason "ow1 XvI7 X777 XYW, we revert to the legal status, which is that they receive
oIp -

- 7191959 PN 19U RDIN KNP XIY NNRYL DIVNT X29Y 7Y X9220 *Nan Yan
However here (by the n71°3) 827 maintains that the reason of 22w1 XvT 7> Ko

is insufficient to award her the o3y -
= ANNH ON NN N99) 02299 NTAIY 9NV 1Y Y 19 117 192

Since legally she does not deserve the 017 payment for if she protests her N7,
she is a complete gentile.

mooIn resolves an anticipated difficulty:
- P31 133 951 KON XNY KYYW "NATY 199 FONT (2,5 91 1mp% VI 19N P93

And in map1 WX pas where X239 maintains the logic of =owi KwIT N7° ROW

® By *m> Hw MW maw YR Hw 1w where 1" rules that the 5% is v, the Y8 is not a Xuw; the x> did not
instigate his ox to gore a *n15> 5w Mw. See 115 NIX 7"20.
7 Why by >m> 5w M we fine the 2°m3 and make them pay (and we do not pay them), and by n>m>71 nX DIND, we
make the 01X1 pay and we do not fine the n>n.
¥ The question of X217 to A0 21 was that if MY 2°919° 12°737, then how can we give this N3 the 03P, when she may
be 7mm and spend the 01 money as a non-Jew. That fact that the X will gain is not sufficient reason to give her
something which she legally does not deserve. This differentiates her from a n>m>3, who is a valid Jew and deserves
her 01p payment; we will not change the legal ruling and punish her, because we do not want the 01X who is a Xn
to gain. 1ow1 XV K7> R? prevents us from punishing her and not giving her, her legal due.
? In our text there it reads 7127, See however the marginal note there (who amends it to X27).
' The mawn there states if one is 03X a woman who was a 2w and was redeemed, he does not pay her 03p, because
we assume that she was 77v21 by the 013 when she was a 7"2w. However 77 " disagrees and maintains that she
receives 01p because she retains her 7w17p status.
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regarding = a captive woman “ -

mooIn responds; she receives the 01p payment
13:115'\\01‘1‘,7: N9 999PMT 0IVN

Because (as °"1 said in the 71wn) that we place her on her 7w 7P status.

SUMMARY

According to X271 the logic of "5w1 Rv K> ROV is not sufficiently powerful to
create a legal obligation; however it is sufficiently powerful to prevent the removal
of a legal obligation for various reasons.

THINKING IT OVER

Mmoo discusses why regarding a 72w does 827 maintain T9WI ROW KT KW,
Perhaps &2 said this only according to 71777 "1 that he maintains 25w31 X0 R ROW,
but not that other 2°Xin (as well as X29) agree!15
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'" The X3 there initially said that the aforementioned 7777 ' agrees with X017 "1, who maintains (in opposition to
the 0°non) that a 375 N2 7°12W can eat 7270, for we do not assume that she was 2"15¥% 719v21 (which would render her
unfit for 7m17n). However X217 challenged this comparison; perhaps "1 maintains that a 712w does not eat 7170
(since we assume that 79¥21) and the reason she receives Dip (according to *"1) is because 12W3 RV R KW,
"2 The question is that since seemingly she does not deserve this 037 payment lawfully (for she is seemingly npma
T2w3; see previous footnote # 11), how can the 72w1 X0 X7° K7 create an obligation to pay her. npon said that X?
70w X0 R (according to X27) is only sufficient to prevent us from removing her legal rights, but not to grant her
new rights. See “Thinking it over’.
" mooin dismisses the assumptions mentioned in footnotes # 11 & 12. 77 ' maintains that a 72w is X9 NP2
79v21 and therefore lawfully she should receive 0ip payment, the reason she is not 7121702 N7 is merely a X,
however by the dik» we do not implement this X127 in order 13w1 RV KT KOW.
' See footnote # 12.
15 See mw» aww in p"now and TnSW XOD.
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